[[normalized x? probability ]

0.09
Entries 53932 0.08F - -
Mean 1201
Std Dev 1371 0.07|
0.06f - - ¢ i+ s d-- - Entries
! + | Mean

_ Lstd bev

0.05F - -
0.04
0.03f--*

Entries,
Mean 0.4726

b e

| LR e

0 2 4 6 8 10 12 14 16 18 20 501020304 0506070809 1
2

X Prob(x?)
orrg'rrm—mg'n.a. ETTOT_TUU0EVT
“original 1000evt
_fitted4_T000evt
I—fit_cpeOK_1000evt
_fit_cpeOK_SORTRZ2 1000evt
fit_cpeOK"SORTRZ2_TESTOUTLIER_1000evt

Ratio

oooood

< X2/ndf>

i<
T
o
A A
= =
5 5
= =
= =
N N
=< =<
v v

Ratio

Ratio




	Contents
	Page 1


